ST. JAMES PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Hardwood					5,104	cords	
Pulpwood (Total)					5,104		
Saw Timber							
Hardwood					201,580	board feet	
Saw Timber (Total)					201,580		
Total Pulpwood, Chip & Saw,							\$448,060
Saw Timber FOB Mill							
Total Forestry Stumpage							\$168,529
(Total)							
Forestry (Total)							\$448,060
FRUITS							
Citrus							
Navels	6	5.5	70.00		385	bu.	\$7,700
Satsumas	6	5.5	100.00		550	bu.	\$11,000
Citrus (Total)		11.0					\$18,700
Fruits (Total)		11.0					\$18,700
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	18,000.0	4.50	Yield / sq. ft.	81,000	lbs.	\$109,350
Greenhouse Vegetables (Total)		18,000.0					\$109,350
Home Gardens (Total)	1,000						\$200,000
NURSERY CROPS							
Floraculture & Bedding	*					acre	\$50,000
Plants (Total)							
Nursery Crops (Total)							\$50,000
Soybeans (Total)	*	51.0	38.00		1,938	bu.	\$11,349
SUGARCANE							
Raw Sugar (Total)	38	21,265.0	6,805.00		144,708,325	lbs.	\$17,364,999
Molasses (Total)		21,265.0	204.00		4,338,060	gal.	\$867,612

Sugarcane (Total)		21,265.0				\$18,232,611
Sweet Potatoes (Total)	*	4.4	250.00	1,100	bu. (50 lbs.)	
VEGETABLES						
Beets (Total)	*	0.2	380.00	76	doz. bunches	\$532
Broccoli (Fresh) (Total)	6	2.0	265.00	530	cartons (20	\$10,600
					lbs.)	
Cabbage						
Fresh	11	15.4	505.00	7,777	sacks (50 lbs.)	\$69,993
Cabbage (Total)		15.4				\$69,993
Cantaloupe (Total)	*	1.0	110.00	110	cartons (40	\$1,917
					lbs.)	
Carrots (Total)	*	0.1	380.00		doz. bunches	\$266
Cauliflower (Total)	*	5.0	345.00	1,725	cartons (20	\$34,500
					lbs.)	
Collards						
Fresh	*	1.1	660.00	726	doz. bunches	\$5,082
Collards (Total)		1.1				\$5,082
Cucumber						
Fresh	7	1.0	320.00	320	bu. (50 lbs.)	\$5,760
Cucumber (Total)		1.0				\$5,760
Eggplant (Total)	7	0.5	380.00	190	bu. (33 lbs.)	\$3,800
Irish Potatoes						
Fresh	*	5.0	140.00	700	cwt.	\$24,500
Irish Potatoes (Total)		5.0				\$24,500
Lima Beans						
Fresh	*	0.1	70.00	7	bu. (32 lbs.)	\$245
Lima Beans (Total)		0.1				\$245
Mirliton (Total)	*	0.5	1,790.00	895	lbs.	\$2,685
Mustard (Fresh) (Total)	13	36.0	625.00	22,500	doz. bunches	\$157,500
Okra (Fresh) (Total)	6	2.0	315.00	630	bu.	\$18,900
Peppers						
Bell	7	3.0	680.00	2,040	bu. (28 lb.)	\$40,800
Peppers (Total)		3.0				\$40,800
Shallots (Total)	6	1.5	1,000.00	1,500	doz. bunches	\$10,500
,			•	ŕ		

ST. JAMES PARISH

CT	TA	· T	MES	D A	DI	CH
ЭI.	• J A	MΝ		ГА		ЭП

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Snap Beans (Fresh) (Total)	6	1.3	106.00	137	bu. (30 lbs.)	\$4,110
Southern Peas (Fresh) (Total)	*	1.0	110.00	110	bu. (24 lbs.)	\$2,750
Spinach (Fresh) (Total)	*	1.0	45.00	45	bu. (25 lbs.)	\$1,125
Squash (Fresh)						
Yellow Squash	*	1.5	155.00	232	bu. (45 lbs.)	\$5,220
Squash (Fresh) (Total)		1.5				\$5,220
Sweet Corn (Fresh) (Total)	*	2.0	620.00	1,240	doz. ears	\$4,340
Tomatoes (Field) (Total)	10	1.5	1,500.00	2,250	lugs (20 lbs.)	\$45,000
Turnips (Fresh) (Total)	*	4.2	550.00	2,310	doz. bunches	\$16,170
Watermelon (Total)	*	2.1	75.00	157	cwt.	\$1,256
Vegetables (Total)		89.0				\$467,551
TOTAL ALL PLANT ENTERPRIS	ES					\$19,537,621

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION Number of Units of Total Units of Gross Farm Fisheries Producers Production Production Measure Value AQUACULTURE Crawfish (Farm) (Total) 7 1,425 Acres in Prod. 740,400 lbs. \$888,480 Aquaculture (Total) \$888,480 MARINE FISHERIES 12 6,748 lbs. Shrimp (Total) \$16,635 Crabs (Total) 10 49,719 lbs. \$36,648 Marine Fisheries (Total) \$53,283 Fur Animals (Total) 594 pelts \$11,761 Alligators (Wild) (Total) 1,132 ft. \$28,313 **HUNTING LEASES** 15 48,026 No. Acres All Other Game (Total) acre \$336,182 Leased Hunting Leases (Total) \$336,182

** The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	Froducers	Floduction	Froduction	Measure	v alue
CATTLE & CALVES					
Steer Calves					
400-500 lbs.			160	head	\$89,244
Steer Calves (Total)					\$89,244
Heifer Calves					
300-400 lbs.			10	head	\$4,415
400-500 lbs.			8	head	\$4,174
Heifer Calves (Total)					\$8,589
Yearling Cattle					
600-700 lbs.			5	head	\$3,248
Yearling Cattle (Total)					\$3,248
Cow-Calf Pairs (Total)			28	pair	\$26,606
Cull Cows (Total)			59	head	\$22,317
Cull Bulls (Total)			10	head	\$8,456
Cattle & Calves (Total)	12	425 No. Cows			\$158,459
HORSES					
Brood Mares					
Race Horses	*	8 No. Brood Mares	2	head	\$16,000
Show Horses	*	4 No. Brood Mares	1	head	\$4,000
Recreation Horses	75	6 No. Brood Mares	9	head	\$13,500
Brood Mares (Total)					\$33,500
Race Horses (Total)	*		8	head	\$96,000
Show Horses (Total)	*		3	head	\$15,000
Recreation Horses (Total)	75		75	head	\$112,500
Horses (Total)					\$257,000

ST. JAMES PARISH

ST. JAMES PARISH

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
SWINE						
Show Pigs (Total)				75	head	\$21,000
Culls (Total)				5	head	\$800
Swine (Total)	6	18	No. Sows			\$21,800
NEW - Perique Tobacco (Total)	*	900	acre	900	Value	\$19,575
TOTAL ALL ANIMAL ENTERP	PRISES					\$437,259

ST. JAMES PARISH \$21,292,899